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PART-A (F - 9)
For New Course ‘
Q. No. 1 carries 1 mark each (any four)...........cccccu.......
Q. No. 2 carries 2 marks each (any five) ..........cccccccouiu.....
Q. No. 3 carries 3 marks each (any two).................c........
Q. No. 4 carries 6 marks each (any two).................ccc....
Q. No. 5 carries 8 marks each (any one) .......................

PART-B (¥ - S[24)
For New- Course

Q. No. 6 carries 1 mark eaclt (Any four).......cuvcveunee.

0

Q. No. 8 carries 3 marks each (any twW0)........ccovvvvvcunee.
Q. No. 9 carries 6 marks each (any £00)......ccovevvwevunie.
Q. No. 10 carries 8 marks each (aatifiorie) e e

PART-C (8 - 9iz¢)
For Old Course (in lieu of Project Works)
Q. No. 11 carries 5 marks each (any four) .........

Llxd= 4
.2x5=10
L3x2= 6
L 6x2 =12
n8xl= 8
Total = 40
LAxd= 4
2x5 = 10
L3%X2= 6
L6x2 =12
81 ="8
Total = 40
.ox4 = 20
Total = 20

. No. 7 carries 2 marks each (any five) ........coccocevcriunc.
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PART-A [/ -9

Answer any four of the following questions : 1x4=4

]
(1)
(iii)

(iv)

(v)

(Vi)

What is intermediate good ?
Sl B3 i [ @l ?
If MPS = 1, what is the value of MPC ?
T MPS =1 &%, MPC 3 I 5[ 292
Primary Deficit = Fiscal Deficit - (Fill in the blank)
=i =i = sreced w@ifb - | (07} 512 779 1)
Which one of the following is. not a quantitative credit control
measure of the central bank ?
Cod (POl (P (R AR e g iwfo qag o
(a) Bank rate
(’F QS
(b) Open market operation
CeTl FeR e
(c) Variable reserve ratio
oIS AAFFS #ffe SHATe
(d) Direct control
eopF fmE _
Write one merit of flexible exchange rate.
sifasIE [ 2R 9o R FE
What is GDP deflator ?
GDP TS {52

Answer any five of the following questions : .

Sl 2x5=
©oTd AT il Ppoe el A ¢ oY

(i)  Differentiate between capital expenditure and revenye = :
AT A W [AER T AGS Al B Xpenditure.

(i) What are the components of high-powered money ?
CHFIOPT=E Ju[ SAMERR 6 (2

(i) What are the transactions that are included in the Carita]
of balance of payments ? p1tal account
oificeiea e el Rovts & 5 R wwge w2 i,

(iv) Define personal income and personal disposable income
GfEare S BF Fieds IRy S 5@l &5 :
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(v)

(vi)

(vii)

As a result of increase in investment by Rs. 125 crores, national
income increases by 500 crores. Calculate the value of the
multiplier. '

e 125 (i 51 9iae oo @St S 500 (it 50 Jia 23 | eod T
fefa =

Distinguish between stock and flow.

G I 2[R SeE 2w (et

Write any two implications of revenue deficit.

e =i R 761 esE &

Answer any two of the following questions : 3x2=6

(1)

(i)

(iii)

(iv)

Write any three limitations of barter system.
R 2 R oA SeRa SEd 4 |

What is balance of payments deficit ? Write two causes of balance
of payments deficit.

AR o 1 G2 wReia swrer Qe 757 SR S 34

Write a short note on :
Autonomous and Induced Investment.

53 (Oiet ot ¢
g i fecee [

What is a government budget? What are the components of
government budget ?

B AMCES 2 bl ACEHa SAMTTR & [Fe

Answer any two of the following : . 6x2=12

o9 TR frizal wol9 Oed fal ¢

()  Discuss the motives of demand for money ? What is liquidity trap ?
S+1=6
TR BIfEws SSARPRE WCEba 91 | Sl9e) T &2
(i) Briefly discuss the income method of calculating national income.
Frpm the following data calculate Gross National Product at market
price (GNPyp). 4+2=6
GO SR alefd) 54l Bl AROC! bR SHICEtbal <=1 | O O T2R® &9
USSP QISR Sl Sl T |
(in Rupees crore)
: (=T T=re)
(i) Mixed income of self-employed 400
Fcifere Ao e Sl
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(111)

()

(in Rupees -crore)

(&I Toro)
(i) Compensation of employees 500
FHIRRe o
(iii) Net factor income from abroad (~20)
fRorig #11 ciat et g
(iv) Net Indirect Taxes (F%5 “ErF %) 100
(v) Consumption of fixed capital ! 120
%9 S STl
(vi) Profits (31®) 350
(vii) Rent (&A1) 100
(viii) Interest (%) 150

Discuss the functions of commercial bank.

AT (@9 ST SCEsa 41 |

Define aggregate demand and aggregate supply. Complete the

following table and determine the equilibrium level of income

2+4=6
ANfEE Bifgnl O ANEE @iaAE kel B See Wal e o4 3

S SES [F 41 ¢

Aggregate Consumption Savings Investment Aggregate
Supply Demand
A A Cofrelal A% e e wifgat |

' (AS) (C) (S) (1) (AD)
900 780 40
800 700 40
700 620 40
600 540 40
500 460 40
400 380 40
300 300 40 B oy |
200 220 40
100 140 40
5. Answer any one of the following : 8x1=8

Ooq YHrad el b9 ©ed frat ¢

() ~ What is fiscal policy ? Discuss the impact of changes in government
expenditure and changes in taxes on equilibrium income.
2+3+3=8
T TS F 2 SR T /90 5191 T ARTST vy gaq AR
#SF SICEDAl 4l | _
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(i) Explain the determination of exchange rate under flexible exchange
rate system.

AfaeTa [T 29 I9ze [RiEwa 2" RdRe 3@ 5=
(iii) Write short notes on : ' 4+4=8
53 (GRF! &l
(a) - Demonetisation
R
(b) Fiscal Responsibility and Budget Management Act, 2003
GBI g T AR ACSE ARG wize, 2003

PART-B [/ -9

6. Answer any four of the following questions : . 1x4=4

woid Y@ [epleal bifetr9 Sed fal ¢

(i) What is underdeveloped economy ? -
s S I e ?
(i) In which year World Trade Organisation (WTO) was formed ?
o 2ifdey A2 (WTO) @l 59 Sion (2feei 2
(iii) Write the full form of SHG.
SHG 5 5724 vt 7211 |
(iv) Write one objective of NITI Aayog.
NITI SIcAR 9o) Srasly Tt |
(v) Golden revolution was related to —
(@) fish production
(b) horticulture production
(¢) milk production

(d) agriculture production (Choose the correct option)
GiET e oite wifts —

(@) ST TeAWET (e

(b) CWIT BT e

(©) W% CeAveE (ACe

(d) IR ot Giee | (o7 5 [o1g 791)
(vi) Define privatisation.

Jfeoresaes e |

7. Answer any five of the following questions : 2x5=10
wofd SRR Ricpreat 2Apo19 Ot 3

(i) Mention two non-institutional sources of rural credit.

ARy Ao 75 SIS T Brael 54 |
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(i) Write two long-term goals of Five Year Plans of India.
iaed AaiEs sARenaE 700 TIdnil & w2

(iii) Mention two types of unemployment prevalent in the agriculture
sector of India.

TEed $RAYS 2bfee 72 AFRA Rl TEE S 4 |

(i) What is the importance of green revolution in the Indian
agriculture ? _
TRe FRAYS (TS [{yTe oFy (2

(v) Write two positive effects of LPG policies in the Indian economy.
se weliifvs LPG ifed 75 4AieR deid @

(vi) Write two merits of globalisation.
(liES e 7ol ARA SrEd 4l |

(vii) Mention two objectives of disinvestment.
AREEeR 700 S GeEd F4 |

Answer any two of the following questions : 3x2=6
oo I it 7o Oed faml ¢
(i) Write a note on Industrial Policy Resolution, 1956.

Sl Tife @i, 19569 Reca a6 Gt |

(ii) Briefly discuss any one serious environmental problem India is
facing at present time.

AET TS ©Ace A @El Rl b $wed AR R T Raw
B3 (F bl 4

(i) Discuss the composition of India’s foreign trade on the eve of
independence. :
Tl TS SRS AR AfETa o107 R SicEAw <5 |

(iv) Explain the role and importance of education in human capital

formation.
ST S algTe Rl Sl i ey o 49

Answer any two of the following questions : 6x2=12
o4 eTElRA ATl o9 oed i ¢
(i) Write a comparative note for India, China and Pakistan on the basis
of
(@) Demographic indicators
(h) Human development indicators
(@) GRS SR i :
(b) R S fFoenEE fofee e, b S A «ff I
Gl gge 4|
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10.

1Lk

(i) Briefly discuss the challenges India is facing in the context of
employment. \
R (@wete SRews T @[l AFTERR FIE SEn T4 |

(iii) What is economic reform ? Explain the need for economic reforms
in India. 1+5=6
wafos FHE 52 Saoe SEfeT AHRT Areme! 94 4 |

(iv) Outline the common developmental successes and failures of India

and Pakistan. 3+3=6
TS SI% AlfeEAg CERoEl Aol Ui Krerelq [y Fal)
Answer any one of the following : 8x1=8

wed faceleal @bl o Ted il ¢

() What do you understand by agriculture marketing system ?
Discuss government measures to improve agriculture marketing
system in India. 2+6=8
T qTiR 32 I [ gol 2 SiReaEs TR IGE 97 THo FRACE &2 T
DRI AMCHEAIZ. S 4 |

(i) Analyse the concept of sustainable development. Also discuss the

strategies for sustainable development. 4+4=8
g G AIREITo! Resaed <51 | Fi5ice a2 TRaee (SHEPTER. SIEna
41| _

PART-C / 99124
(For Old Course Students in lieu of Project Works)

Answer any four of the following questions : 5x4=20

<o eI bIfet) 2| S Al ¢

(i) Write a critical note on public debt.
5aFIal W A @it FFEmaeE GRe frt|

(i) Discuss the sources of demand for foreign currency.

@ @I DIV SIPTR WD 41 |

(i) Can GDP be used as an index of country’s welfare ? Justify your
answer. _

GDP & @44 (79 STl Fphcl 9218 FR3 Al 2 cotie Sess 79ics Ife
SEICEIT |

(iv) What is human capital ? Discuss the sources of human capital.
e e R 2 R A ST SRR Wil 9 |
(v) Briefly write about India as a knowledge economy.

e Sl 2ol SResE Raw st B

(vi) Discuss the circular flow of national income in a simple economy.
Q2 e TLIO® AT bR AT el 74 |

X
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